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1.

Who was the writer of ‘Desan Mein Des
Haryana' 7

(A) Lakhamichand

(B) Uday Bhanu Hams
(C) Dayachand Mayna
(D) None of the above

Biggest State of India In terms of area Is
(A) Maharashtra (B) U.P.
(C) Rajasthan (D) Mone of the above

The amendments which have created
uniformity in the structures of Panchayath Haj
and Nagarapalika institution across the
country are

(A) 74 and 77 (B) 73 and74

(C) 76 and 42 (D) 21 and B1
internal communication within Institutions
is done through

(A) WAN (B) LAN

(C) MMS (D) EBB

Select the word which is least like the other
words in the group.

(A) Othello (B) King Lear

(C) Oliver Twist (D) Macbeth

Gurudwara Dhamtan Sahib was built in
the memary of

(A) Guru Gobind Singh
(B) Guru Nanak

(C) Guru Tegh Bahadur
(D) None of the above

Infront of a concave mirmor, an object is placed
atadistance d, from the focus and the real
image is formed al a distance d, from the

focus. Then the focal length of the mirror is
(A) Jd#z B) dgd,

waL

(D) J?V
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(D) @ @ wrd el |
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(A) WERTE @ A
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3. @mﬂﬁmmﬁnmmaﬁ
F graalt H waEE ETel HE & :
(A) 74 AT TT (B) 7330 74
(C) 76 T 42 (D) 21361
¥ mrem @ fem ST R | 1
(A} 'WAN (B) LAN
(CY MMS (D) EBB

5. =B e S S wYE § 3 T A T
=4 fera & |
(A) shded (B) T
(€) sifemfeam= (D) H=aw

6. TEWwEHETE __ Awd
HATE1 T |
(A) T Mfde f&e
(B) 1% AHF

(C) 1% a gt
(D) ¥ H 9 =rs e

7. qﬁmﬁw%mﬁa@ﬁmﬂd
20 oz vl 7 & sir arafies i d, %
T § | 41 20 ) Eree e tJ

(A) Jdd, (8) dgd,

© {d,;dz ) J%
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B ng:nhsl:bﬁin ':gg following States has a separate
{A) Jammu and Kashmir
(B) Nagaland
(C) Kamnataka
(D} West Bengal

£ Which of the following is not a world
heritage site in India ?

(A) Ahmedabad city
(B) Hampi group of monuments
(C) Beluru-Halebeedu sites

- (D} Mone of the above

10. Phalgu festis held in Faral village on
(A) Nirjal Ekadashi
{B) Somavati Amavasya
{C) Kartik Purnima
{D) None of the above

11. Who is the current Speakar of Haryana
Legislative Assembly ? 20

{A) Abhay Singh Chautala
(B} Manochar Lal Khattar
(C) Kanwar Pal Gujjar

(D) Santosh Yadav

represents billlen characters,

TE = e
(A) Megabyltes (B) ‘Kilobytes

(C) Terabytes (D) Gigabytes
13. Baisakhi is usually celebrated on
{m 14" of April (B) 25" of April
£G} 1+ May (D) 31* December
survey of 400 , 100 people like
e, 150 like Dranlge ]uh;a and
leno "ﬂmlimalElk

(D) 225
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Freaferfan 33 ot T 4 P i 7
(a) =t 3ttt wwi
(B) TIEE
(C) FAlew
(D) ufeem e
forra v W B 7
(A) STEHETETE T
(B) AT 0wt e
(e R SRR
(D) % A @ w1 T
e M 1 HIE] I
(A) Fsfer e
(B) HIH=H] AHTEE
(C) e o
(D) 3% # A =1d
ghamn BFEeS F adra e AR R
A) v e e
(B} FHATEL 16 W
(C) AL 9T
(D) wHdtd arE
e
(A) HTETEEE (B) fereitamszs
(C) THTEH (D) fimaTszs
et g FARE |
(a) 14 3= (B) 25 H=
(©) 17 (0) 31 fedan
400 M & Wk HAww §, 100 FON F HA
%10 qHE 2, 150 F) ATCH =1 1 wEE & 3l
75 % 21 %1 T 9EE € | A d1 Ha, 761 A

o1 R |

= T THE A e S R e

(A) 100 (B) 250

(C) 175 (D) 225
ﬂmﬁrﬁﬂ wARTI § I i
(A) w-ua-d  (B) AT

(€) wI-Frsm (D) =
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16. World's only habitat for Asiatic lion found in
which of the following National Park 7

(A) Bandhavgarh National Park
(B) Gir National Park

(C) Mukurihi National Park

(D) None of the above

17. Constructors are used to
(A) Construct the data
(B) Initialize the object
(C) Both (A) and (B)
(D) Neither (A) nor (B)

18. The mean of the first 'n’ natural numbers is

n+1 (0 +1
(A) > (B) =t
(C) % (D) None of these

19. On 22 January 2015, PM Narendra Modi
Iaunch?d the ‘Beti Bachao, Beti Padhao
Yojana' in which of the following city of
Haryana ?

(A) Kurukshetra
(C) Chandigarh

(B) Panipat
{D) Panchkula

20. A magnetic needie lying parallel to a
magnetic field reqgtires W units of wark to
turn it through 60°. The torque needed to
maintain the needle in this position will be

(B) 5
© w

(D) 2w

Srotherf the doghterof my”
. ;.ﬁ Wﬁamd{d lahul defeat ?
(B) Uncle

16.

174

18.

19.

21.

22,

T
bl

)
i

o ——
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FEFA v g |
(A) sTFE T
(B) = 37T0d
(C) (A) 3 (B) &
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n+1 . n{ +1)
B (B) —”2-_
©) 3 (0) FHAFET
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23, glor;nplnm the ;:riiglgurgs pair. 23, HHETW gE T |
(A) Submarine (B) Ship s S e
(A) uEE (B) w7
(C) Boat (D) Crocodile (C) 74 D) wmm=s

Twu water laps logether can fill a tank in
QE hours. The tap of larger diameter takes

10 hours less than the smailer one to fill
the tank separately. Find the time taken by
the tap with smaller diameter to fill the tank
separately.

(A) 25hrs.
(C) 15hrs.

(B} 20 hrs.

(D) 18 hrs.
_______isatolklore Museum situated
in Gurugram.
(A) Sri Krishna Museum
(B) Jahaj Kothi Zonal Museum
(C) Urusvati Museum
(D) Dharohar Museum

Tha ‘countries who have been considered
as the founding members of ASEAN, are

(A) India, Malaysia, Philippines, Singapore
~ and Thailand
{E} india, Malaysia, Philippines, Singapore
and Nepal
-{B}ﬂ Indonesia, Malaysia; Nepal, Singapore
a
m Thﬂill nﬁialaysra, Fhlllppinﬂs

| T R |

%1z m%wﬁﬁ;maﬁMm

_ mﬁmaﬁm%wuﬁmmt |2t

feran =1+ AT TG W

(A) 2552 (B) 20%2
(C) 1542 (D} 187%2

T | i -

(A) it T wREE
(B) FETH WIS HeEed HIERY
(C) el BUEGA
(D) trﬁ‘nzmm

. ag 29 fE ASEAN % SR HEED F =Y

7 = A1

(A) i, wefE, frem, g sl
(B muﬂﬁmmwm
(C) iz?tﬁﬁm Feiamn, A, g sl

{D’]Hﬁﬁﬁlﬂqﬁﬁmwm
3R agEs

. feao S WA SR & e S

P o1
(A) FET fR wer
(B) q“aﬁtﬁﬁﬂt
[?G} = U
(D) mﬁiﬁhﬂ
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(A) Public |
(C) Protected

Mahaima Gandhi was firstarreste
railway station of Haryana

(A) Palwal

(C) Kalka

is the present Lokayukta of
Haryana.

(A) Pritam Pal

(B) Justice Nawal Kishore Agarwal
(C) Kaptan Singh Solanki

(D) None of the above

Which element s deficient in milk 7
(A) Potassium  (B) Calcium

(€) lron (D) Magnesium

.....

SAN D :-_ .I.'-I.
A) RAM

(©) RM

........
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37. Co-operative farming become
succassiul in e ore
{A) Denmark (B) Australi
(C) USA ©) India

41.

42.

compatible with the |

Number of banks nationali I
1969 I8 lonalized since

EAI 18 gB 19

C) 14 D) None of the above
Who is empowered to suspend
operation of Furrdamanlalililighlshg

(A) Parliament (B} Supreme Cotr
(C) President (©) Prime Minister

Kalpana Chawla, the first woman of Ind
origin to go to space was bom in this plaa;:g

{A) Kamal (B) Hisar
(C) Kurukshetra (D) Panipat

Hx 2y, 3z are in AP, wherex v za
distinct number and are in G.P. .!':han llﬁa
common ratio of the G.P. is

A 3 ]

(B8) 3

1
BY =
(D) 5
This district of Haryana has highest number
of Vidhan Sabha constituencies
(A) Gurugram (B} Panipal
() Hisar (DY Yamunanagar

{€) 2

Which of the following do you feel are
a of secularism ?

(A) Recognition of State religion

(B) Domination of one religion

_{G}' Equal State to support all religions
(D) None of the above

tly Central Government released

UM 'Epplithmr

(A) Online banking

(B) Single window piatiorm for all &-Gove.

Services
(C) Registering child sexual abuse
:

(D) None of the above

a7,

39.

40,

41.

42.

<7=
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HEH 5 H WEA W 48 A
(A) A (B) sHrefEm

{C) .UH.T, (L) 9T

1969 % 12 8 19w 70 a6 o) siwen
(A} 18 (8) 19 _

(C) 14 (O} 3% & & =€ i
i ST % garem ) et =0
#1 wfs Bk arm B 7

(A} THE (B) WA= =arer
() Tafa (D) s

AT e = et o s geeh
Hfeett Tea I 5 1 1 1= o

(A) HETH B feam

(C) FHuA (D) T

af2 x, 2y, 3z TATER A0 A R, wwl v 2 i
HeTd § 3 FnfhdE 2o | & 68 st
Auft 1 @] ST
(A).3 (B)

[y

c) 2 (D) >
w%wﬁéﬁaﬁﬁ%h‘m?ﬁ
(A) TEITH (B) WA

(€) femm (D) WA

s fateraT &) ST 3 59 S
Frafiafian & & #9-3 ggm e 2 7
(A) T uH w7 iR

(B) U =1 Wy

(C) wvt wml = Fwd AT B T
(D) ¥ 0 & ik T

' 1 8, e w3 I 3y sl B

b Efemd

(A) ST i >

(8) Tt 3Ttz R vy e e
e

(D) 3 | @ A :
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(D) Amern::an Standar
Infurmatmﬁ\v

.

Haryana was the first S
to achieve 100% rural ele ._

(A) 1947 (B) 185!
(C) 1970

The radius of Ge nuclide is measured I¢
be twice the radius of Be®, The number of

nucleons in Ge are

[A:' 71 [_E] 72

() 78 (D) 74

If 2 =52 and ACT = 48, then BAT will be
equal to

(A) 39 (B) 41

(C) 44 (D) 46

A
il
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~_Tha interaction between sea anemone that
 has stinging tentacles and the clown fish
that lives among them, |s an example far

~A) Mutualism (B} Amensalism
'c) Commensalism (D} Parasitism

-Paw’ isrelated to 'Cal’ in the

Ypof is related lo Sallaub
1A} Horse (B) Lamb

(C) Elephant (D) Lion

. “&hivalik hills are present in the
‘art of Haryana.
(B} East

“A) West
(C) North-east (D) South-west

Which of the following is a fi fis
in python 3.0 ? d oored division

(A) / 8) I

C) % (D) -

Value of k in the quadratic

2@+ l+3=0 sﬂqihut it ?;asﬂggﬂginmots is
(A) =4 (B) +2V6

(C) 23 (D) None

. Bhagwat Dayal Sharma w:.;s representing
constituency when he became
the first CM of Haryana.

| (A) Bhiwani (B). Tosham
' (C) Pataudi (D) - Jhajjar

. Non-Performing/Asset (NPA) which Is
‘making headline from past several years.,
(A) Insurance corporations

(B) Banking establishments

(€) Corporate companies

/(D) None of the above
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51. @ AR W AN ik e and e
+fY 76 w1 TEAATE A W & W B
% a8 %1 U 3T R |
(A) EESitEE (BY wm=a
(C) & (D) uiEm
“foreeht’ | "t waifira ¥, e www

H wafa B
(A) =TS (B) HwR
(c) wdt (D) I
Tiranters aETeal s & A E |
(A) af=m (8)
©) W34 (D) zfEm-afrm
Priffaa 1 3 FH-81 0 e 3.0 1
A farE & 7

52.

53.

(B) I

(D) -

FrerTel] T 2¢ + ke +3=0 A KF A
R et e G R LR ACR

(A) 4 (B) +2V6

(C) =3 (D) =

ST TTEA SATE THT T 3 e e

, = d AT & 1 Wi

FaU |

(A) firar (8) dram

(C) T2 (D) W=l

AT HUT (NPA) =01 frsst %o anl |

ghifidg, e AW

(A) = FTaHeE

B) #fEm ufer=m -

(C) =miTe FuEl

(D) 3F A =T

N HEREH S § SR i S
srferat 3 fer el = ST wEH
AT 2 | T 38 10 =4 3 fo A T
a1 | 37T 2020 7% A A T B | 1 @
2012 7% ghed i 3 Sl
%WTEW m'm%
(A) 8430t 47  (B) 383N 27
[C',I Mm 37 (D) Wﬁﬂﬁmﬂ
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3«!“2&15{2] Ny e =35%1T‘h F=
59. If"P, =840, "C =35 thenf= 59. X "P,=840 (B) 24
; B) 24 (A) 6
(A) 6 l (D) 5
©) 4 () 5 () 4
- S arga-H S T it g g
inad by many genes 60. TH Tl
o, Achracer doomed BTN ES | %% T} g e 7 A
known as e ¢ |
(A) Qualitative character (A) TETTEEE SIET
(B) Oligogenic character (B) Fregsi aE
(C) Quantitative character (C) Wﬁ BLA
(D) None of the above (D) I H A 18 e
: | 7f2 vl T
61. Th fsi fons is 8. If each | 61. =5, it A 8 2 | , .
mse:nui?igﬁ i; ﬁ.‘fﬁﬁ;ﬁﬁnﬁ%. then new =) a7 7o fEHan =, 1 1 AT
mean becomes (A) 11 (B) B
(A) 11 (B) 8 (C) 48 (D) 24
(C) 48 (D) 24
62. If the word CAPITAL is written as 62. af CAPITAL 3/ FI DCSMYGS feran
DCSMYGS, how the word NATION is ST 2., A1 NATION 752 i 361 2 1 ¥4
' written in that code ? Rraismam? O
(A) OCWMTT (B) OBVLST (A) | OCWMTT (B) OBVLST
(C) OBUJPU (D) OCLML (C) OBUJPU (D) OCLML
63. First Clone Dolly was made.in 63. W&l FwA Biel H = |
(A) Sheep (B)- Goat (A) W3 (B) =il
(C) Cow (D). Buffalo (C) T (D) =
64. #‘mral?ingh won :!‘IE Azi_?:l"l EETHI_? gold 64. &A1 fliE 1 1966 31 1970 F IR UfERH W
al in consecutive editions of the
games n the 1966 and 1970 for which of & e e fofeafier H 4 e et R it ¢
e ng games (A) AT B ga%ﬁru‘l
(A) Weight lifting (B) Boxing ®)
(C) Running (D) Badminton ©) ¥ (0)- ¥efiea
65. Which of the following States or Union 5. fifeifiaa # & frm v=a a1 &g mfaa wa
Teritories has highest density of poputation ? i e B S & 7
(A) Delhi (B) West Bengal (A) foeeh (B) ufeam @mel
(C) Maharashtra (D) None of the above (C) HENTE (D) FF & w1
'66. Tangi river is a tributary of _ 66, aiTi el £ gEEEs T2 |
(A) Yamuna (B) Ghaggar
(C) Ganga (D) Markanda (A) Ilﬂfﬁ (B) =T
. (C) T (D) Wi
H -10-
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, unsolicited e-mail message senttomany | 7. @mﬁﬂyﬁtﬁaﬁ&mwuﬁmﬂﬁﬁm
_acipients at once is a £ Fm ?
) Worm (B) Virus (A) 'ﬂﬁﬁ‘ [a-pi‘_g (B) ?;;m
C) Threat (D) Spam (c) =Rl (D)
. - -]
66 ~aw many Schedules are there in the g8, it H frdl HW{EE ol
Zhonstitution ? (A) 385 -
) 395 (B) 12 €y 19 (D) :
©) 19 Ll 6o, it ) T A A
- an his walking from Sabaraman . e
EF:‘ :!ﬂ??ahﬂ Eﬁarﬂﬁ Dandi on ARl au:’tzigﬂ?;mﬁﬁ Eﬁ;ﬂ 112 e
{fa) 12March, 1930 (B) 12 March, 1932 {21 \5 At 1930 (D) 12779, 1931
(C) 12 April, 1930 (D) 12 March, 1931 { g o
: : , 70, edi T HiE 1o
7u. vmestgoldsolis _________incolour. . — 8 ¥
{A) Red (B) Purple (A) ©) e
(C) Golden (D) Blue (C) HAwdl y
i Py Rl R
71, Consider the following statemenis : 71. iaim A
1. Cirrus clouds are formed at high 1, "= ot ?@rix S
ituce, 2. FIH! A E !
2 %In::ﬂlsus clouds are look like cotton i =rfl 7 TR e 31-3 & 31
wool. g s S FAE
3, Stratus clouds are :ha Iﬁylzr:g ;muds O ach RS ‘f,.l i
ring large portion 0 : :
4, memu%s are black or dark grey. e FUA Y, |
|dentify the correcl statements. () 1.2 a3
(A) 1,2a$§ @) 2,334
B) 2.3a X
EG; Only 3 and 4 (©) m;am
(D) All the above (D) ¥ R
j warl was orie of the melf | 72 mm“n?maﬁﬁﬁ;%
L Fmgiﬂlenman Rebellion of 1857 In faEe % 4&
Haryana. (A) TH gETH
(A) Rao Sukhram (B) T ™ e
(B) RaoTularam (C) T THETE
{&} Rao G‘-ﬂpnﬂﬂl Stiﬂﬂ (D) TE fam £ AR
- (D) Rao Ruda Sing sin | 73, POP3MIMAP {7 e | o
73, POP3and IMAP aré e-malil accou (A) ﬁﬁliﬁwﬁ;ﬂﬁ X
I T " I.I. - =y 3 'E m31‘
'Wm-amﬂmaumw gets one (B) '@hﬂi' fh/ e AN
e e (cy e e - S S
- ® Severtoread oW B ed o e 0 5 forg T R I IS
One only 92 1%, recelve e-mal (D) foreh =0 =g ¥ e
B s noi need any eeP1Cne e

-11-
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74. Biography of Harshavardhana,
"Harshacharita' was written by a sanskrit
which describes his

poet

association with Thanesar.

(A) Bhasa (B) Kalidasa
(C) Banabhatta (D) Dandi

75. Human Development Index issued by
(A) IMF (B) World Bank
(C) UNDP (D) None of the above

______ |sused as a promoter in the
synthesis of ammonia by Haber's process,

(A) Antimony {B) Arsenic
(C) Molybdenum (D) lron

Haryanvi tradition credits _____ for
laying the foundation of the present style
of Swang,

(A) Kishan Lal Bhaat

(B) Pt Deepchand

(C) Dayachand Mayna

(D) None of the above

The 4" term of a G.P. is square of its

second term and the first term is — 3,
then the 7™ term of the G.P is

(A) —2187 (B) 2187
(C) 343 (D) =343
Complete the analogy.

3:26J =272 Y

(A) 8 (B) 28
(C) 64 (D) 65

This politician had a rare distinction of
sem:g as Minister in the undivided
Punjab, Rajasthan and Haryana

(A) Bansilal

(B) Choudhary Tayyab Husain
(C) Zakir Husain

(D) Choudhary Yaseen Husain

In the séqﬁ&pm,-.ﬁf:qumher
5. 8,13, x, 34, 55, 89, the value of x is

(A) 20 (B) 21
(C) 23 (D) 29
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0 g
o’ UF HERA iy
74. ﬁﬁﬁﬁzﬁmﬂwﬂg_a‘tmm
arre & afi w2 | Seam
@y § B) =
(©) ammE (D)
75. W forae g T
frmraman B |
(A) IMF (B) ﬁ'ﬁag
(C) UNDP (D) mﬁ ﬁfqﬁ
76, e wh @i ST WA
e ant o A YR g |
() wE () siretkee
(©) wfemET™ (D) @
77. adam i deht i e v 3 g
(A) Torgm wire we
(B) 9. #y=E
(C) =hT=a "I
(DY 3 A & S TE
78. U= ST Avfl S =91 98 3O T 9E
Falg iR EeE -3,
it =1 7 S 9 &
(A) —2187 (B) 2187
(C) 343 (D) —343
79. HEETAr g Hifsu |
o B8:28:127:2
19 (A) 8 (B) 28
@y (C) 64 (D) 65
0. @ THifeT =t rfyefom e, wremam o
’ TN & 51 o w9 H 5 w0 = aey g
}f T & .
() HEE
() =herft dzm g
(C) w8
(D) =irerdl AT 8
81, HENHI 5, 8, 13, x, 34, 55, 89 F

XFHA S
(A) 20

© 23 (B) 21

(D) 29



| _ P

g2. Acoinis tossed twice. The probability
that at least one tail appears is

] 1
A ~ —
A 3 ® -
3
(C) 2 (D) 0

83. Which of the following is an open source

word processor 7

wwwHnakemyexam.in -

(A) MS Word
(C) Kwrite

(B) WordPerfect Office
(D) MS Excel

84, The remainder obtained when 6" -
divided by 25, is R

(A) O
(C) 1

(B8) 10
(D) 5

g5. Nematode resistant tobacco plant is
developed by a novel strategy called

(A) RNA interference
(B) DNA interference
(C) Green revolution
(D) None of the above

g6, __ receivedthe Jnanpith Award for
her contribution to Hindi literature in 2017.

(A) Vanitha (B) Shankha Ghosh
(C) Pratibha Ray (D) Krishna Sobti

The number of terms in the expansion of
7

[CEE
| (8 29
(D) 12
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82, U T &I 51 90 I I R | F0 2w
TF AT U 9T WEE B wftea #

® > ® 5
©

D) O

B2

83, Fffian # & F-w1 0% wE B A
e 7
(A) THOE =g (B) FTETTHa THE
(C) s (D) W UE

84. 6" -5n = 25 fawfE =0 w I
b1
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Fill in the blanks with appropriate article, 5. ® Tﬂ:q - _;{; ;?
89. Tagore was truly great poet. [:H:ﬁ T (B) U HTH
(A) a T (D) T FNE
(B) No article needed ©
(C) the 06, ‘Fearg dr=An Wi‘m e B
(.20 (A) FER F
80. There is not man here who will (B) w171 =T
nol support you. tﬂ'@'ﬂlﬁ'
) a (B) Not needed ©) mﬂm
(C) an (©) the (D)SHE w
Supply suitable verb in agreement with its subject. 9. :‘;ﬂﬁi?ﬂ VAR, 2
9. ETh»«rai rpea:ns employed by you (A) TcgEN (B) ﬁ'll
ufficien s
B e (©) 7= (D) =Esdife
(B) were 98, UF + UF = UFF deFA-diAfae ?
(C) is (A) =i dh
{D) None of the above (8) v =
92. l?fmslcrn. as well as Arabic, taught (C) dfe Y
ere. :
(A) was (B) are tf'] ey
(C) were (D) _have 99. “wHued & | 56 AT ol W M 3
Select the correct expression from the given rat
options and il in the blanks. (A) &4 e (B) &g
g3, 'Ha_‘vms'much By s (C) &= ggn (D) &\ e
{H'J 'qggl-a_mr (B) cast down 100. Wﬁﬂﬂ?ﬁmw‘ IE FH-41
(C) castoff (D) call up ar=g 8 7
R i (B) =H ar=a
(B) " bore away (C) = ar=a
(D) bears oyt (D) Eﬁﬁ T
T e






